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TAE = g R~ A(mm) 1 R ~) B(mm)
3 103.4 89.4

4 124 110

5 144.6 130.6

6 165.2 151.2

7 185.8 171.8

8 206.4 192.4

9 227 213

10 247.6 233.6
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(L s LAEETT: 25mpa
(2) F/NE3ET]: 1.4mpa
() W AE 1~20 & (4445
() T W, RS 68mmY/s(1E 40°CHT)
TR, EFANEAMKT 265 (££25°C, 150g)
(5) TAEHBEIERE: -20°C~+80°C
(6) ZEH NG RN TAE B i ZE R i s I R 2R 60cyc/min
(D FEZERIRFEEHRIER: 200cyc/min
REHTECER TAE 2 3~10 A
(9 HES I SAAESE RS EKE: ¢6mm K 1.2~3.5m, ¢8mm £ 1.5~4.5m
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16 0.16 0.32 SD2-16T SD2-16SR

24 0.24 0.48 SD2-24T SD2-24SR

32 0.32 0.64 SD2-32T | SD2-32JT | SD2-32SR SD2-32JSR

40 0.40 0.80 SD2-40T | SD2-40JT | SD2-40SR SD2-40JSR

48 0.48 0.96 SD2-48T | SD2-48JT | SD2-48SR | SD2-48JSR

56 0.56 1.12 SD2-56T | SD2-56JT | SD2-56SR SD2-56JSR
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KN TAEEJ]: 20MPa
&AM NLGLI-O#H . 1#. 2#
He&E: 0.2, 0.4. 0.6mL/cyc
TAFIRFE: -35C~+80C
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LA 2 4 6 8 10 12 14 16 18 20
L 59 75.5 92 |108.5| 125 | 141.5| 158 | 174.5 | 191 | 207.5

L1 110 126.5 | 143 | 159.5 | 176 | 192.5 | 209 | 225.5 | 242 | 258.5




